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provided that the latter limit exists.
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Trigonometric Integrals

Combining u-substitution and the trigonometric identities, we will address three forms
of these integrals.

1. jsin"xdx, Icos"xd&c
2. I sin”™ xcos” x dx

3. Isin(mx) cos(rnx) dx, Isin(mx) sin(rx) dx, Icos(mx) cos(rnx) dx
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EX 2 jCOS xdx = S (wS)C) M If nis odd,
usesin® x+cos’ x =1.
If nis even,
use half —angle formulas.
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EX 3 jcos x sin™ x dx Type 2

If mor nis odd and positive,

S(sz ([05 %4 (Su\)() h( factor out sin x or cos x

and use sin® x +cos’ x =1.
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Type 2 \
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EX 4 Icos xsin” x dx
If mor nis odd and positive,
factor out sinx or cos x
and use sin” x+cos” x =1.
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If m and n are even and positive,

use half — angle identities.
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Type 3
Use product identitie:
sin(mx) cos(nx) = 3[si ((M+ n)x) +sin{(m —n)x)]
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